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— Q| 34,9103 ~ 18 * 260 9,077
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—4UHEE 10,369,000& = 0.103 1,069
201 et 9,758 12,223 A2,465
01 AR 22l 1,452 1,452 0
Ogel=gHl 1,452
—HEANZHI S| 121,000& = 12& 1,452
02 2323l 8,306 10,771 A2,465
(@Fsi=3.] 1,530
—gAAEUY 1,7002 = 104 = 90 * 104 1,530
OAl & &EHI= Xl 2,176
— AR A 3,000&  543m’ 1,629
—&1 2,600& » 162m’ 422
—HUAE 2,600& * 48m’ 125
OXtgtd et 4,600
—AA=H| 300,000& = 123 3,600
— =Xl 250,000& * 427 1,000
401 Al&HI LS04I 5,000 10,000 25,000
01 Al&H| 5,000 10,000 A5,000
OHAIRA HF DHSA 5,000,000& = 14l 5,000
S3AE 2el 56,200 44,880 11,320
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WENSS(EES) 45,0002 = 200 = 123 1,080
EHECEZD| 10,000& * 601 = 123 720
401 Al&HI YL S OHYI 40,000 30,000 10,000
01 Al&H| 40,000 30,000 10,000
OBSANE=RA & HEF=HFH| 40,000,000& 40,000
HHSAAH (R0B) 83,425 86,625 1,800
Jl2ZHl(|0H) 88,425 86,625 1,800
Jl23HI(sAHH) 88,425 86,625 1,800
201 ety 41,305 41,505 200
01 AtE22lHl 30,725 30,925 A 200
Oget=g| 13,000,000& 13,000
o=d=+¢ 12,025
— 2 &Y 50,000& » 1¥ * 116 5,800
— =2 25,000 » 18 » 249 6,225
Oon =l 80,000& » 39 240
O= &l 5,460
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OJI2gRFd 1,400,000& 1,400
02 AN 31,200 31,200 0
O HNH 200,000& = 1398 * 128 31,200
203 HRF4Hl 10,120 10,120 0
01 JI22FLR=LH 6,600 6,600 0
OJ|2=23HRF4l 550,000& = 123 6,600
02 HAMNAMHRFAHI 520 520 0
OF MY L= 40,0003 * 139 520
04 RN2ILRFLH 3,000 3,000 0
ORN2IHRFAHI 250,000& = 123 3,000
204 XA 2,400 2,400 0
01 MEZYRL3A| 2,400 2,400 0
ogE 150,000& = 12& 1,800
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